(3x=2)* = (2x+3)* = (Ax+1) (x + B) 4 W, A + B ©] g& 73}
ofzt.

> E.

[> ®MEt: A+ B=0

B

3x-2=X, 2x+3=YE A&7
(3x-2)% - (2x + 3)?
=X*-7=(X+Y)(X-Y)

= (5x+1)(x-5)

. A=5 B=-5

. A4+ B=00|t}.




2. 2 -9 +4x+ 12y & A5EMNSHH (Ax+ By) (Cx+ Dy+4) 7t
Hoha ek A+ B+ C + D 9] 3& Fatofet

> E.

> ®™eh: 2

(A1) = (x=3y) (x+3y) + 4 (x+3y)
=(x+3y)(x—3y+4)
LA4+B4+C+D=1+3+1-3=2




3.

4x? - 24xy + 36y* - 16 = 7 AA Y Fog
a4 o] gh& Fstefzt,

> HE T 4x-12y

(=4 =4(= —6xy+9y)—16
=4(x-3y)*-16
= (2x—6y+4) (2x—6y—4)

(2x—6y+4)+ (2x—6y—4) = 4x— 12y




99 x 145 4+ 99 x 55

o o B Fotla,

Ch "
[— ]

>
D> MEH:

oHd -

1
2

99 x 145 +99x 55  99(145 + 55) 1

1992 — 1 (199 + 1)(199-1) 2




5.

a=V2-1Q W, a®+4a+4 9] 3L Fstolet,
>

> He: 34242

B

@’ +da+4=(a+2)?
=(V2-1+2)
= (V2+1)?
=2+2V2+1
=3+2V2




